HOUSE 1

Directions to the TxAIRE Homes

From Loop 323 in Tyler, turn on to Spur 248 towards the UT Tyler Campus Turn north on Patriot Avenue Tum right onto Campus Drive (West Entrance The TuARE Homes are the first driveway on your right

DSC Building Science

ÎNIRICA 👯





30 April 2013

Five	Ventila	ation Tests Conducted in Each House										
Test Number	Test Name	Test Description										
1	Baseline	No ventilation, bedroom doors closed, no central fan operation										
2	Exhaust	Exhaust ventilation from master bathroom, bathroom door open to bedroom, bedroom doors closed, no central fan operation										
3	Exh w/mixing	Exhaust ventilation from master bathroom, bathroom door open to bedroom, bedroom doors closed, 20% central fan operation (48 off / 12 on)										
4	CFIS	Central-fan-integrated supply (CFIS) ventilation, bedrooms closed, 33% central fan duty cycle (20 off / 10 on)										
5	ERV	Balanced (ERV) ventilation, bedrooms closed, no central fan operation, 50% runtime (30 on /30 off)										
Ventilation 30 April 20	Effectivenes	s Research 5 Energy Encarcy & Construction Science Science Corporation										





Main 750 10.0 7220 47 472 1972 Master 337 9.0 2766 48 433 1107 Middle 159 8 1272 13 100 418 Bath 64 8 512 6 50 178 Front 165 9 1485 35 315 645	1222
Master 337 9.0 2766 48 433 1107 Middle 159 8 1272 13 100 418 Bath 64 8 512 6 50 178 Front 165 9 1485 35 315 645	
Viddle 159 8 1272 13 100 418 Bath 64 8 512 6 50 178 Front 165 9 1485 35 315 645	770
Bath 64 8 512 6 50 178 Front 165 9 1485 35 315 645	259
Front 165 9 1485 35 315 645	114
	480
House 1 lotal 14/5 44 13255 149 1370 4320	
Attic (House 2) ¹ 1475 13507 2	2860
House 2 Total 1475 44 26762 149 1370 5	5705
% diff. H2/H1 102%	32%
Attic volume and roof surface from AutoCAD 3D model	

Conditioned Floor Conditioned Volume (ff) Surface Area ² C n CFM50 CFM50 CFM50 per fc surface area ELA ⁴ (in ²) SI (in ²		Туріс	cally repo	orted	blo	owe	er do	or to	est re	esult	S	
$\begin{tabular}{ c c c c c c c c c c c c c c c c c c c$		Conditioned							CFM50			
House 1 1.475 13.255 4.320 66.2 0.706 1048 4.74 0.24 99 49.94 2 House 2 1.475 26.762 5.705 67.1 0.63 789 1.77 0.14 84 45.56 2 * For House 2, volume includes the unvented attic which is inside conditioned space but not actively conditioned 2 2 2 6.762 5.705 67.1 0.63 789 1.77 0.14 84 45.56 2 * For House 2, volume includes the unvented attic which is inside conditioned space but not actively conditioned 2 2 4 99 49.94 2 49.94 2 49.94 2 49.94 2 49.94 2 49.95		Floor Area (ft ²)	Conditioned Volume (ft ³) ¹	Surface Area ²	с	n	CFM50	ACH50	surface area	EqLA ³ (in ²)	ELA ⁴ (in ²)	SLA⁵
House 2 1,475 26,762 5,705 67.1 0.63 789 1.77 0.14 84 45,56 2 ¹ For House 2, volume includes the unvented attic which is inside conditioned space but not actively conditioned a	House 1	1,475	13,255	4,320	66.2	0.706	1048	4.74	0.24	99	49.94	2.35
¹ For House 2, volume includes the unvented attic which is inside conditioned space but not actively conditioned ² Exterior surface area includes the slab floor, walls and roof ³ Equivalent Leakage Area; EqLA = CFM10 * 0.2333 ⁴ Effective Leakage Area; ELA = CFM4 * 0.2835 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000 ⁵ Specific Leakage Area; SLA = Specific Area; Specific Area; SLA = Specific Area; Speci	House 2	1,475	26,762	5,705	67.1	0.63	789	1.77	0.14	84	45.56	2.14
⁵ Specific Leakage Area; SLA = ELA / 144 / floor area * 10,000	¹ For Hou ² Exterio ³ Equivale ⁴ Effective	ise 2, volume in r surface area i ent Leakage Are e Leakage Area	includes the unvented includes the slab flo ea; EqLA = CFM10 * a; ELA = CFM4 * 0.2	attic which or, walls a 0.2939 835	n is ins and ro	side cor of	nditioned	space bu	t not activel	y conditio	oned	
	⁵ Specific	: Leakage Area	; SLA = ELA / 144 /	floor area '	* 10,00	00						
Ventilation Effectiveness Research	Ventila	ation Effectiv	veness Researc	h								Building



Exhaust (100% runtime	e)
	House 1 (CFM)	House 2 (CFM)
Master bathroom	45	45
CFIS (3	3% runtime)	
	House 1 (CFM)	House 2 (CFM)
Flow station	135	135
Outside Air Intake	109	100
ERV (5)% runtime)	
Room	House 1 (CFM)	House 2 (CFM)
Master Supply	36	47
Middle Supply	27	25
Front Supply	30	24
Supply Total	93	96
Outside Air Intake	116	96
Exhaust Foyer	58	48
Exhaust Kitchen	80	75
Exhaust Total	138	123



	Floor Area	Height	Volume					Resulting
Zone Name	(fť)	(ft)	(ft ³)	PFT	Color	RSS	Qty	RSS
H1 Attic, vented	1463	9.2	13507	PDCB	brown	1	1	1.0
H2 Attic, unvented	1463	9.2	13507	PDCB	brown	1	1	1.0
Main	738	9.8	7220	PMCH	red	0.93	1	0.9
Garage	419	9	3771	ocPDCH	blue	0.16	5	0.8
Master bed	337	8.2	2766	iPPCH	purple	0.25	3	0.7
Front bed	165	9	1485	1-2PTCH	silver	0.12	6	0.73
Middle bed	159	8	1272	PMCP	gold	0.62	1	0.6
1/2 Bath (open to Main)	64	8	512					































			Main z	one			Master	zone		
		Cumulative	Cumulative	Differential	% diff.	Cumulative	Cumulative	Differential	% diff.	
Test	Ventilation	Counts ¹ at	Counts ¹ at	Counts	from	Counts ¹ at	Counts ¹ at	Counts	from	Average
#	System	0.3 µm	2.0 µm	0.3- 2.0 µm	Exhaust	0.3 µm	2.0 µm	0.3- 2.0 µm	Exhaust	% diff.
	House 1									
1	Baseline	2,764,437	2,992	2,761,446	-47%	2,453,086	1,871	2,451,215	-47%	-47%
2	Exhaust	5,223,259	3,917	5,219,341		4,654,361	3,087	4,651,275		-
з	Exhaust w/mixing	1,407,415	1,557	1,405,858	-73%	1,299,948	1,066	1,298,882	-72%	-73%
4	CFIS	730,706	1,209	729,497	-86%	774, 120	942	773,178	-83%	-85%
5	ERV	1,522,578	2,120	1,520,458	-71%	1,572,288	2,652	1,569,636	-66%	-69%
	House 2									
1(6)	Baseline	3,171,002	2,611	3,168,391	-39%	3,745,584	2,061	3,743,523	-20%	-29%
2	Exhaust	8,009,169	7,086	8,002,084		8,279,091	7,795	8,271,296		
3	Exhaust w/mixing	2,582,948	4,536	2,578,411	-51%	2,887,309	4,900	2,882,409	-38%	-44%
4	CFIS	1,221,080	2,258	1,218,822	-77%	1,445,509	2,130	1,443,379	-69%	-73%
5	ERV	2,277,061	2,882	2,274,178	-56%	2,396,952	2,935	2,394,018	-49%	-52%
2 3 4 5 ¹ Cur of e	Exhaust Exhaust w/mixing CFIS ERV nulative counts per ach 24 hour test per	2,582,948 1,221,080 2,277,061 15-minute sa	4,536 2,258 2,882 ample, avera	2,578,411 1,218,822 2,274,178 ged over 21 s	 -51% -77% -56% amples s	2,887,309 1,445,509 2,396,952 tarting at hou	4,900 2,130 2,935 ur 16.75 and e	8,271,296 2,882,409 1,443,379 2,394,018 ending at hou	-38% -69% -49% r 22	6 6









		Main	zone	Maste	r zone	
			% diff.		% diff.	
Test	Ventilation	туос	from	туос	from	Average
#	System	µg/m³	Exhaust	µg/m³	Exhaust	% diff.
	House 1					
1	Baseline	690	-37%	1,310	123%	43%
2	Exhaust	1100		588		
3	Exhaust w/mixing	820	-25%	865	47%	11%
4	CFIS	459	-58%	458	-22%	-40%
5	ERV	357	-68%	271	-54%	-61%
	House 2					
1(6)	Baseline	519	6%	511	-18%	-6%
2	Exhaust	491		622		
3	Exhaust w/mixing	477	-3%	438	-30%	-16%
4	CFIS	264	-46%	252	-59%	-53%
5	ERV	295	-40%	209	-66%	-53%
	Combined					
1	Baseline					18%
2	Exhaust					
3	Exhaust w/mixing					-3%
4	CFIS					-47%
5	ERV					-57%

Conclusions • Source of outside air, ventilation air distribution, and air filtration matter Compared to the supply and balanced ventilation systems, exhaust ventilation showed: More airflow coming from the attic and garage Higher concentrations of airborne particulate matter · Higher concentrations of formaldehyde and other Top 20 VOCs Lower uniformity of outdoor air exchange rate between different living space zones Ventilation Effectiveness Research ENERGY Energy Efficiency & Control Science Science

35

Recommendations

- System Factors to credit better performing ventilation systems should be considered to allow smaller systems to save cost and energy, and reduce risk in hot-humid climates
- System Factor Table for consideration (factors applied to ASHRAE Standard 62.2-2013 ventilation rate):

recirculation*	filtration recirculation
0.5	0.7
0.55	0.75
0.7	1.0
	0.5 0.55 0.7

* Requires minimum whole-house recirculation turnover of 0.7 ach with minimum MPR 700 or MERV 9 filter. Minimum whole-house recirculation turnover defined as: (AHU cfm)(minimum runtime min/h) / (conditioned floor area*8 ft)

36

Ventilation Effectiveness Research 30 April 2013

ENERGY Efficiency & Management Science

30 April 2013

Recommendations, o	cont,
--------------------	-------

Numerical basis for the System Factors shown, given as percent airflow rate reduction for each System Factor Category

			Per	cent Reductio due to listed !	n in 62 Syster	.2-2013 V n Factor ('entilation Ra Categories	ate		
	With	n Whole-Buil	ding Recircu	ulation Filtratio	n	Witho	ut Whole-Bu	uilding Recir	culation Filtrat	ion
	System Factor Categories					System Factor Categories				
Whole-Building Mechanical Ventilation System Type	Balance	Distribution	OA Source	Recirculation Filtration	Total	Balance	Distribution	n OA Source	Recirculation Filtration	Tota
Balanced	5	10	15	20	50	5	10	15		30
Unbalanced Supply		10	15	20	45		10	15		25
Unbalanced Exhaust		10		20	30					0

			2-	<mark>story</mark> , 62.2-2	010 fan cfr	1=54	1-	<mark>story</mark> , 62.2-2	010 fan cfm	1=50
			3.0	ach50	1.5	ach50	3.0	ach50	1.5	ach50
CLIMATE ZONE	LOCATION	ASHRAE WSF*	62.2-2013 fan cfm	% diff from 62.2-2010 fan cfm						
Warm-Humid	Orlando, FL	0.39	73	35%	88	62%	71	42%	81	61%
Warm-Humid	Houston, TX	0.40	72	34%	87	61%	71	41%	80	61%
Warm-Humid	Charleston, SC	0.43	70	30%	86	59%	69	38%	80	59%
Mixed-Humid	Baltimore, MD	0.50	65	20%	83	55%	66	31%	78	56%
Mixed-Humid	Kansas City, MO	0.60	58	7%	80	48%	61	22%	75	51%
Mixed-Humid	Charlotte, NC	0.43	70	30%	86	59%	69	38%	80	59%
Cold-Humid	Minneapolis, MN	0.63	55	2%	79	46%	59	19%	75	49%
Cold-Humid	Chicago, IL	0.60	58	7%	80	48%	61	22%	75	51%
Dry	Phoenix, AZ	0.43	70	30%	86	59%	69	38%	80	59%
Dry	Denver, CO	0.61	57	5%	79	47%	60	21%	75	50%
Marine	Los Angeles, CA	0.42	71	31%	86	60%	70	39%	80	60%
Marine	Seattle, WA	0.56	61	12%	81	50%	63	26%	76	53%
	average o	f climates:	65	20%	83	55%	66	31%	78	56%
			62.2-2013 fan cfm	% diff from 62.2-2010 fan cfm						
Avg of climate,	archetype, and tig	ntness:	73	40%						